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1 /IMVEEEFHF 500m
B E % R (B5}) 4 o6k 1
1 /NR X &R 6 0:48.26
2 MF W= = I 6 0:49.08
3 ERE RE &R 6 0:50.33
4 BT EzZN  EN 6 0:52.19
5 JRHE X £iR 6 0:54.69
2 INEBELF 500m
B K% R (B5}) 4 o6k 1
1 BZE %A &R 6 0:48.59
2 FE HYS 7k BA 6 0:49.96
3 /NEF WERE EII 6 0:51.38
4 INE EE £iR 6 0:55.92
5 WiE MK =1 6 1:15.38
3 INESEBRF 500m
B K% R (B5}) 4 o6k 1
1 FE #HE E 5 0:50.53
2 Ak E Eil 5 1:02.92
3 HH BR/ =1 5 1:09.50
TE R =1 5 DNS
4 INESELF 500m
B K% R (B5}) 4 o6k 1
1 X #tE 7k BH 5 0:48.98
2 TEE Bk &R 5 0:50.49
3 HX HFF £iR 5 0:53.06
4 It/ EE &R 5 0:54.92
5 XKiI EUF EII 5 0:58.03
6 FiE EE =1 5 1:01.19
17 Bh EBEF 7k BA 5 1:18.01
8 Rk WE 7k BA 5 1:21.23
5 INEAERF 500m
B K% R (B5}) 4 o6k 1
1 IMNE KH &R 4 0:51.39
2 M BEKR £iR 4 0:56.75
3 U EZ#H &R 4 0:56.93
4 £F XE £iR 4 1:06.62
5 XB & =1 4 1:15.11
6 il # £iR 4 1:16.96



6 /NEAELF 500m

B E_ % B (B4)) 2 5 &
1 M XE &R 4 0:56.17
2 IR FERE £iR 4 1:05.24
3 XB /= £iR 4 1:05.72
4 ®E A = I 4 1:06.02
5 7B #5fE sk BA 4 1:14.24
6 I EE £iR 4 1:15.20
7 Ik EEI R &R 4 1:20.69
7 INEBEBF 500m
B K £ B (B4)) 2 5 &
1 KM X EJI 3 0:56.78
2 EBE &AF % 3 1:00.81
3 A —R EJ 3 1:04.48
4 PR & £iR 3 1:10.23
5 BT B&E =) 3 1:10.40
6 HE Ht EJI 3 1:21.45
7 ER kF = I 3 1:57.09
8 INEISFELF 500m
B K £ B (B4)) 2 5 &
1 Rk Ik 7k BH 3 1:08.68
2 BE Eie £iR 3 1:12.85
3 =H BEHF E 3 1:32.93
4  FFER LY sk BA 3 1:40.32
9 INE2FEBF 500m
B K £ B (B4)) 2E 5 &
1 KT #lsh = I 2 1:13.45
2 HEF fEKER  EI 2 1:14.26
3 FH E% 7k BH 2 1:15.11
10 /IMNE2FLF 500m
B K £ B (B4)) 2E 5 &
1 RE BEN =)l 2 1:12.31
2 WE ZE=EHP = I 2 1:19.83
3 Bh FE 7k BH 2 1:20.77
4 ZEAS XJh  KkH 2 1:22.93
5 Z=H H¥F = I 2 1:38.39
6 XBE BE = 1| 2 1:53.32
11 /IMNE1FEBF 500m
B K £ B (B4)) 2E 5 &
1 FHiE & £iR 1 1:11.74



13 IpNEE 1235EBF 100m

B K £ B (B4)) 2 5 &
1 MR B&E =) 2 0:20.43

2 /O GEX sk BA 1 0:21.28

3 EFE Z=F =) 2 0:22.58

4 HRE K EJI 1 0:29.19

[RE BEXER KEA 1 DNS

14 INFE 1235 XF 100m
B K £ B (E25)) 5 1
1 del|m = &R 1 0:26.72

2 XBE E=E £iR 1 0:26.98

3 Al #F0 £iR 1 0:27.23

4 Kk OEN  EII 1 0:32.74

5 &K #HE sk BA 1 0:36.00

6 RH ®BE sk BA 3 0:55.82

16 % EEIEFEH/L—R
B K £ B (E254) 5 1
1 #E Ak = 1| 6 1:01.58

2 Bh EBEF 7k BH 5 1:08.75

17 INF2FEBF 300m
B K £ B (E54) 5 1
1 && #AKER  FEI 2 0:45.43

2 IR BHAE =) 2 1:06.43

3 EFE Z=F =) 2 1:14.10

18 INE2FLF 300m
B K £ B (B4)) 2E 5 &
1 B BFE 7k BH 2 0:47.75

2 Z2EAN XJh KkH 2 0:57.91

3 XBE BE = 1| 2 1:03.91

4 =#H %F = I 2 1:04.42

19 INE1EBF 300m
B K £ B (B4)) 2E 5 &
1 FHiE & £iR 1 0:43.47

2 /O GEX sk BA 1 1:18.63

3 \E X EJI 1 1:39.45

[RE BEXER KEA 1 DNS



20 pE1ELF 300m
B K £ B (B4)) 2 5 &
1 XB E=&E £iR 1 1:04.61

2 Gl #F0 £iR 1 1:20.01

3 Kk oEN™ gl 1 1:24.80

4 FEK ##F sk BA 1 1:47.30

23 INFAELZF 300m
B K £ B (B4)) 2E 5 &
1 Ik BEER £R 4 0:48.59

24 INEBEBF 300m
B K £ B (B4)) 2E 5 &
1 BH ¥(#% = I 3 1:08.53

25 INE3ELF 300m
B K £ B (B4)) 2 5 &
1 =H BEFH = 3 1:01.65

2  EER Ly sk BA 3 1:02.60

3 RH B=E sk BA 3 2:02.59

26 INEBEBRF 1500m
B E % B (B4)) 2 5 &
1 INR RXK £iR 6 2:42.68

2 BT FEzt EN 6 2:49.51

3 EE RE % 6 2:49.74

27 INEBEBRF 1500m
B K £ B (B4)) 2 5 &
1 EE #hE EJI 5 2:49.88

28 INFEAFEBF 1500m
B K £ B (B4)) 2E 5 &
1 FFE BE = I 6 1:40.08

2 [RHE X £iR 6 1:54.81

29 INEGEBF 1000m
B K £ B (B4)) 2E 5 &
1 FFE BE = I 6 1:40.08

2 [RHE X £iR 6 1:54.81



30 /ME6ELF 1000m
B K% R (B5}) 4 ik &
1 2EiZE %A &R 6 1:40.48
2 FE HYS 7k BA 6 1:40.96
3 /NEF WERE  EII 6 1:41.27
4 INE EE %] 6 1:58.98
5 WiE Mk =1 6 2:11.38
31 INESEBF 1000m
B K% R (B5}) 4 ik &
1 =k 2 EIJil 5 2:14.30
2 BHH BR/ =1 5 2:28.80
TE R =1 5 DNS
32 INESELF 1000m
B K% R (B5}) 4 ik &
1 X #tE 7k BH 5 1:41.18
2 fEf Btk &R 5 1:48.66
3 HX HFF &R 5 1:49.54
4 IR EE &R 5 1:59.89
5 XKiI BEUF FEl 5 2:09.65
6 FiE EE =9 5 2:11.21
1 Bh EBEF 7k BA 5 2:37.90
8 Rk WE 7k BA 5 2:42.98
33 INEAFEBF 1000m
B K% R (B5}) 4 ik &
1 IMNE KH &R 4 1:50.77
2 H1L ZH &R 4 2:01.89
3 M EEKR &R 4 2:02.60
4 £F XE £iR 4 2:30.23
5 XB & =1 4 2:42.64
6 il # &R 4 2:48.14
34 INEAELF 1000m
B E % R (B5}) 4 ik &
1 EM xE &R 4 1:58.03
2 WE Ak =1 4 2:20.31
3 XB #BE £iR 4 2:20.38
4  IhFR FEE £iR 4 2:25.17
5 A EE £iR 4 2:35.66
6 FFEA 57 7k BA 4 2:41.89
7 Ik EER LR 4 2:46.41



35 INEIEFBF 1000m

B K % B (B4)) 2 5 A
1 KM X EJI 3 1:58.12
2 EBE &AF % 3 2:10.20
3 A —R EJ 3 2:10.58
4 PR & £iR 3 2:31.03
5 BT B&E =) 3 2:31.37
6 HE Ht EJI 3 2:44.42
36 MNFEIFELF 1000m
B K % B (B4)) 2 5 A
1 Rk Ik 7k BH 3 2:28.80
2 BE Eie £iR 3 2:38.71
=H BEF = 3 DNS
37 INFE2FEBF 1000m
B KE % B (B4)) 2 5 A
1 FH % 7k BH 2 2:30.90
2 KT #sh = 2 2:39.15
38 MF2FELF 1000m
B K % B (B4)) 2 5 A
1 RE AN =) 2 2:39.77
2 WE ZE=EF =) 2 2:45.36
39 MNEBF 2000mL—
I3z F—Is (E254) 5 A
1 ®=iRA 3:36.05
EE RE INE KH
[RE X INR RXK
2 %iRB 4:15.46
EM FER BE A#
£F FE 411 =&
3 = 4:33.44
E&x Bh XE BN
BT BE ME Bi=
EJI 3:48.55 F—To5m

BT BN A &
INEF RPERR BE HE



40 /INEZF 2000mlJL—

B F—Ls (241) ik &
1 ®IRA
TEM Fhk X &S 3:34.50
NG BE 22 %8
2 kBH
KU $hEE FiE IniE 3:54.43
B EF =2E HYS
3 <®IRB 4:13.22

EM XE INFR FEE
B BE R BHE

4 = 4:20.09
#HE EE mE B
WiE Ak KL BELUF



	四校親善記録会

